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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 1 = 7
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 1 mark.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
1 A§H$ H$m h¡&
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1)	 (i)	 What are the passive and active elements in an electronic 
circuit?

		  EH$ Bbo³Q´>m{ZH$ n[anW ‘| {ZpîH«$¶ d g{H«$¶ Ad¶d ³¶m h¢?

	 (ii)	 What do you mean by an ideal voltage source?

		  AmXe© dmoëQ>Vm ómoV go Amn ³¶m g‘PVo h¢?

	 (iii)	 Why we prefer h parameters to study Bi-polar Junction 
Transistor (BJT)?

		  {ÛYw«dr¶ O§³eZ Q´>mqOñQ>a (BJT) H$m AÜ¶¶Z H$aZo Ho$ {bE  
h - àmMbm§o H$mo hr ³¶m| MwZm OmVm h¡?

	 (iv)	 Draw the symbol of npn BJT.

		  npn BJT H$m àVrH$ ~ZmAmo&

	 (v)	 Draw the zener characteristic curve.

		  OrZa A{^bmj{UH$ dH«$ ~ZmBE&

	 (vi)	 Mention main advantages of Field Effect Transistor (FET) 
over BJT.

		  BJT H$s VwbZm ‘| FET Ho$ Cn¶moJ go ‘w»¶ bm^ ~VmBE&

	 (vii)	Write down the truth table of NAND gate.

		  NAND Vm{H©$H$ Ûmam| H$s gË¶ gmaUr Xem©BE&

	 Section - B	 4 × 3.5 = 14
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 3.5 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 3.5 A§H$m| H$m h¡&
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2)	 State and prove Maximum Power Transfer Theorem for an 
active circuit.

	 A{YH$V‘ ep³V g§MaU à‘o¶ H$m H$WZ H$a Cgo {gÕ H$s{OE&

3)	 Explain XOR gate.

	 XOR Ûma H$mo g‘PmBE&

4)	 Draw the circuit diagram of a full wave rectifier with load 
resistance and explain its working.

	 EH$ nyU© Va§J {dîQ>H$mar Ho$ n[anW H$m bmoS> à{VamoY g{hV {MÌ It{ME& 
BgH$s H$m¶©{dYr H$mo g‘PmBE&

5)	 What do you mean by a load line? Draw the output 
characteristics curves of a common emitter PNP transistor 
with dc load lines.

	 bmoS>bmB©Z go Amn ³¶m g‘PVo h¢& C^¶{ZîR> CËg©OH$ PNP Q´>mqOñQ>a 
A{^{dÝ¶mg Ho$ dc bmoS> bmBZ H$mo Xem©Vo hþE {ZJ©‘ A{^bmj{UH$ dH«$ 
It{ME&

6)	 What is miller effect? 

	 {‘ba à^md ³¶m h¢? 

7)	 Explain the working of choke input LC fiter.

	 MmoH$ {Zdoer LC {’$ëQ>a H$s H$m¶©{d{Y g‘PmBE&

8)	 Explain the working of Field Effect Transistor (FET) as a 
voltage-controlled resistor.

	 dmoëQ>oO {Z¶§{ÌV à{VamoYr Ho$ ê$n ‘| joÌ à^md Q´>mqOñQ>a (FET) H$s 
H$m¶©{dYr H$mo g‘PmBE&

9)	 Draw the Transistor-Transistor Logic (TTL) circuits for NOT, 
AND.

	 Q´>mqOñQ>a - Q´>mqOñQ>a Vm{H©$H$ (TTL) n[anW H$mo NOT, AND Ûmam| Ho$ 
{bE Amao{IV H$s{OE&
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	 Section - C	 2 × 7 = 14
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
7 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡& 

10)	 (i)	� Explain the capacitance effect for forward and reverse 
bias conditions of a P-N junction diode.

		�  g§{Y S>m¶moS> Ho$ AJ« d níM{X{eH$ ~m¶g pñW{V ‘| Ym[aVm à^md H$s 
ì¶m»¶m H$s{OE&

	 (ii)	 Draw the Norton's equivalent circuit for the following circuit  
	 �and find the value of current across the load resistance RL. 

		�  {X¶o J¶o n[anW {MÌ H$m ZmQ>©Z g‘Vwë¶ n[anW Amao{IV H$s{OE& 
VWm bmoS> à{VamoY RL ‘| go ~hZodmbr Ymam H$m ‘mZ kmV H$s{OE&

11)	 Draw the circuit diagram of Colpitts oscillator. Find the formula 
for frequency of oscillation and obtain necessary condition for 
sustained oscillations.

	 H$m°pënQ> Xmo{bÌ Ho$ n[anW H$mo Amao{IV H$s{OE& Bg Xmo{bÌ H$s Amd¥{Îm 
H$m gyÌ ì¶wËnÝZ H$s{OE gmW hr ñdV… XmobZmo§ H$s eV© H$mo àmßV H$s{OE&

12)	 Explain the advantage of negative feedback.

	 G$UmË‘H$ nwZ{Z©doe Ho$ bm^ g‘PmBE&

13)	 Explain the input and output characteristics of common emitter 
configuration of BJT transistor.

	 BJT Q´>m§{OñQ>a Ho$ {Zdoer VWm {ZJ©V A{^bmj{UH$m| H$mo g‘PmBE&


